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a—F i Fik | FER (kg) &% () i i Sl PE (BAL)
Y3002 =4 (&4) 6 4, 698 1, 296 270 270 | BN bkg
31950 HAE 2 594 119 119 119 | BH 53
31900 ¥ 4 778 216 216 216 | B 4kg
34330 EAd 14 1, 080 22 11 11| BH T0A
34460 I= L E L 1 810 162 162 162 | BH 548
34100 | HA/I 58 3, 445 12 12 121 BH 2904
34140 [UZEHK 23 313 5 2 21BN 1154
34200 'F§I 49 6, 674 151 151 119 BW 49kg
34500 B—< 8 1, 966 270 238 238 | BN 8kg
36600 7~FnE 39 2,079 54 54 54 | BP9 39kg
34930 LA v 83 6, 826 54 11 3 BN 2754
Y3030 LA (5) 5 6, 545 1,318 1,318 1,296 | BN 5kg
34800 B B 26 8, 597 54 32 16| B AL SN
36700 ITAdTK 12 1, 366 119 119 119 B 12kg
37520 KL # 7 475 27 27 16 | &M 22
48305 R 43 3,035 324 162 65 | BN 18{#
Y4010 /PhET A 216 31, 525 486 281 184 | B 10818
47100 T—/L A A v 40 24, 214 648 616 497 | BN . 401A
49100 SFF 3 216 216 216 216 | B IZN
49470 RNy v a T — 19 8, 869 65 39 27 B 19218
71030 K7 t&F 3, 305 81 54 38 BN 60A
71032 FZ&F (FF) 2, 689 54 54 36| BN 604
21040 = N 3, 856 76 76 54 | B 60A
71162 F4 () 216 108 108 108 | &M 2K
71286 Ju—Hn 5,427 86 81 81| &M 654
53456 7= 7RI 4 864 216 216 216 | BH 4kg
30100 7ZW\WZ A 3L 52 1,836 65 43 2 ERE 404
30100 72V Z A M 32 2,527 70 70 70 | ERR 364
30300 AZ L 80 7,776 972 972 972 |AE 84—
31100 EX L 75 4,320 864 864 864 | £ 5 5 —2
33500 BT &3 L 7 389 5 5 5 | & 7248
33810 HHEE 4 1,296 65 65 65 | FEIZ 204%
Y5005 4 7KEAN 5 1, 566 1,566 1, 566 1,566 K45y 17—
31700 F v 10 1,296 1,296 1,296 1,296 |HEA 17 —=
31700 F Y 100 9,126 1,080 864 810 | E i 1047 — X
31800 1Z 5 NAE 8 432 11 11 11 | #& ] 4048
31950 B B 15 1,858 432 432 238 |- 54— 2R
31900 X L 10 5, 249 324 324 162 RS 203 (500g)
32800 125 5 2, 700 54 54 54 K%y 507
36800 HoXx xH 40 3, 564 97 86 86 |EEILE 40kg
34300 729 2L 40 5, 292 1,080 756 216 | REAR 84—
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4 HE HR S AT #% 5
a—F Fa%, B | PR (kg) &% (1) miE | Pl % FE (BLAL)
34330 R 12 432 11 11 11 |REA 4048
34330 R 6 432 e 22 22 I 2048 B
34400 b= b 2L 28 3,910 756 540 497 | BEA Thr—A
34400 k= b M 4 497 497 497 497 IR B =S
34100 #AI 115 3,877 216 216 54 IR 2347 — %
34100 | #H/IK 2L 20 432 108 108 108 | = I 4hr— A
34520 HRE—<w v B L 2 864 864 864 864 | = I 1 —=
34571 T Y B (FR) 0 108 54 54 54 | 4 [E 21
34572 ST UH () 1 432 108 108 108 | BEIR B 41#
36200 HEnE 29 3,175 76 76 76 | K iFF 4248
36600 7-FrE 80 3, 348 1, 404 648 648 | £ 44—
37200 L x 5 2L 8 2, 808 1, 404 1, 404 1,404 | [H 24— R
33410 Hr=—L X 2R L 9 972 43 11 11| &% 45{&
33600 S& Y 1 508 216 119 54 |t i) 445
38100 A LW =if 16 3,812 43 38 5 "= IfF 16073y 7
34910 &K 8 1, 080 270 270 270 | IR 41
34980 ~HFE 18 4, 050 81 81 32 ERE 604
31310 AP 8 432 11 11 11 | t& 4048
31500 /MRS 20 5, 265 59 59 32 | 1& [ 10048
32500 HoiF 2 324 22 22 11 | & 2031
37560 BIIT 1 1,728 216 216 119 | K%y 1078 7
Y4008 N ABHA L 20 9, 828 2, 700 2, 376 2,376 £ 44— R
45230 EIERE 5 1 702 378 378 324 | t&@m 2y
44000 H b 7 5, 702 238 238 238 | IR 24,3
48000 F s M 20 2, 160 648 648 432 |REAR 4#
49100 /NF 24 7,776 3, 888 3, 888 3,888 74 UKy 2/ —2
44700 F = U — 1 1,512 378 378 378 | L 4Ry
’ &t 1, 606 245, 855




